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Section - A (16 x 2 = 32 marks)
Underline the correct answer. Half-mark will be deducted for each wrong marking.

1.  Given 5A9 + 3B7 + 2C8 = 1114; A, B, C are digits, then the maximum value of C is —
a3l TR 5A9 + 3B7 + 2C8 = 1114; A, B, C foafb 1%, ©ta C @3 76 WW 23 —
(@)5 (b)7 (c)8 (d) None of these

21
2. If o, B arethe zeros of the polynomial 2x2 + 5x + K such that, &” + ° + a8 = »then value of Kis

;M o, B 2x2 + 5x + K 9% Izoiw AR 95 e 27, @4t a2+ﬂ2+aﬂ=%,wmzwm—
(a)-3 (b) 3 (c) -2 (d) 2

3. Ifthe system of equations kx + 3y — (k— 3) = 0 and 12x + ky — k = 0 has infinitely many solutions,
then the value of K iis —

T kx + 3y — (k= 3) = 0 @32 12x + ky — k = 0 92 7271770 9ioa SRR A AT, O3 K 97 i 203 —
(a)6 (b)—6 (c)0 (d)3

4. If9, a, b,—6 are in Arithmetic Progression (A.P), thena + b is —
M 9, a, b, —6 T A9ifers AT, O (a + b) G T 2F —

(@)1 (b)5 (c) 15 (d)3
5. The value of . /sec? @+ cos ec?@ iS—

\Jsec’ @+cosec’d SN —

2
0
(a) tan@+cotd (b) sec@+cosect (c) s

(d) tan@—secd

cosec’d
6. If PQis a chord of length 8 cm of a circle of radius 5 cm. The tangents at P and Q intersect at a
point T. Then the length of TP is —

PQ ¢ 3red 8 cm it @I &71; Jred IPIE 5 em | P g Q Ryre Jre wifws xS it o=ats T
e (M T | TP @3 O 203 —

) 20
(a) 107cm (b) 25.5cm (c) 5 em (d)12cm

7. Anunbiased six faced die is thrown twice. The probability that 5 will not come up either of the time is
GG R 2T (Zreet [fE) hE (218 26T | (i A2 2 5 S0 ) 9= FASI[ 2o —

35 25 1 11
(@) 36 (b) 36 (c) 36 (d) 36

8.  Two solid right circular cones have the same height. The radii of their bases are r, andr,. They are
melted and recast into a cylinder of the same height. The radius of the base of the cylinder is —

YCH! 958 T f#IC=0 o7 OB *IF (S 251 | *1F W{od QI T 1, 43R 1, G | % GLOIT o1y G2
THSIF G 77 JEITE (B8 (o T4l 247 | (Gleiba givg Py 23 —
ntn

ntn N kA
NG (b) = (©) 3 @)\
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The hypotenuse of a right triangle is 10 cm and radius of the inscribed circle is 1 cm. The perimeter
of the triangle is —

@35 A fagrem wiogrem i 10 cm @3k fageihe sresgres wEE 1 cm | fageta #AfEH 23 —
(a)15¢cm (b) 22 cm (c)24 cm (d)18 cm

The ratio in which the line 3x + y—9 = 0 divides the line segment joining points (1, 3)and (2, 7) is
(1, 3) &3k (2, 7) 7 wiva ST @HAE X + Yy — 9 = 0 @ @ SG2ATe o T3 of 261 —

(@)3:4 (b)2:3 (c)4:3 (d)3:2
The value of sin?5° + sin210° + sin?15% + ....... +sin?900 s —
sin?5% + sin?10° + sin?15% + ....... + sin290° 93T —
1
(a)8 (b) 95 ()9 (d)10

Bulbul has to pay Rs. 482 for 19 apples and 11 guavas. Had he exchanged the number of apples
and guavas, purchased, he would have to pay Rs. 64 less. The amount he has to pay more to
purchase one apple than a guavais —

19 5 witors @ 11 6 Coimt (@17 T e 482 Bt fuee 231 | e o7 T SITeiet @ (ol siRan 1ebt
R =03, O ©ItE 64 B T T 200! | GF SACHTER 7N G (6 (AR WG (517 T (@12
(a)Rs. 19 (b)Rs. 8 (c)Rs. 11 (d)Rs.7

In A4BC, XY parallel to AC is drawn, it meets AB at X and BC at Y, XY divides the triangle into two

AX
parts of equal areas. Then 1B equals —

fager ABC @3 AC i ITi@dls1 XY (F4ig4 AB (F X @32 BC (& Y Rt (v 303 | XY (@2 fqgeiore

AX
VB! I (AR I Ol 0 | ACHCE —p A —

@) Y2+ ) 222 0 22 0 32!
2 2 2 2
The value of S = + ! + Loy +;is—
2x7  Tx12 12x17 252x257
= ! + ! + L = @WEANIE —
2x7  Tx12 12x17 252x257
@5 0) 5 © 5 @ 5
257 2x257 2x257 2x257
TheV3|U60f\/8+2\/8+2m is | Jmm/mzm T 2 —
(a)4 (b) 6 (c)8 (d)10
The decimal expansion of the number 14588 will —
8750
%wawmﬁmw—

a) terminate after two decimal places (42 %If3<F ZITaa %19 (%19 203)

b) terminate after three decimal places (fos WifS& BITaa 27 (19 203)
c) terminate after four decimal places (517 7if3/& BT %17 (17 2C3)
d) not terminate (SN w*ifsi)

Section — B (8 x 2 = 16 marks)
The HCF of 2472, 1284 and a third number N is 12. If their LCM is 22 x 32x 5x 103 x 107, then the
minimum value of the number N is —
2472, 1284 @R u‘]@%—ﬁ\o 9N N @ a1o7.@ 12 | 9147 fomfoa e1ol@. 23 x 32 x 5 x 103 x 107 , ©iz&
N 712715 A& TW 203 —
Ans.:
If x=cy + bz, y=cx + az, z= bx + cy, then the relation among a, b, c in simplified form is —
T x = cy + bz, y = cx + az, z = bx + Ccy T, (A a, b G ¢ G 47 T>F 07 AT ol 751 —
Ans.:

~ o~ o~ o~
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1 s 2 0 2 0 .
0= — +sin“39" +tan“‘51"' -————
If cosec 39° = x, then the value of cos 0?5 1" sin? 51" sec? 39° IS
1 . 1
7t cosec 39° = x 27, 9@ ————+sin’ 39" +tan’ 51’ - ——————— @AW TF —

cosec’51° sin” 51° sec* 39°
Ans.:

a, —a
Giventhatx,a, a, yareinA.Pandx,b,, b, b, yarealsoinA.P, (x# y) then the value of —b2—b1 is
3 2

a,—a

(AT, X, @, 8, Y KX, b, b,, by, y5Wea 2effoge o =, - @asa s (x#y)?
3 2

Ans.:

/35
The area of arectangle is same as that of a circle of radius 1 cm. If the length of the rectangle

exceeds its bredth by 3 cm, then find the length of the rectangle.

35 L, - p
G0 STOTHCAT CFGe] ’/ﬁ cm P RB 936 Jrea CFarceT T | IW SATSCHALR () T2 2%

A 3 cm (@91 27, O0F B2 (M) O ?
Ans.:

In a frequency distribution table, modal value of the wages of 130 workers is Rs. 97.50, 1 = 94.5,
f_=x+15,f=x,1f,=x+5.Find the upper limit of the modal class.

130 T ®ftaa @3(6 “Afere e (2t St 2NfFficea ALria i «ihed 2w 97.50 51, | = 94.5,
f =x+15,f=x,f,=x+ 5; 16 A0 T ToA| fefz o |

Ans.:

If the points (2, 1), (x, y) and (7, 5) are collinear, then relation between x and y is
i (2, 1), (x, y) 9R (7, 5) «3 7 foafb s1wa2 23, Ot x '@ y @7 Sy 7= 23 —

Ans.:

ABC is an equilateral triangle and the points P, Q, R divides the sides AB, BC, CAin the ratio
1:2(AP:PB=1:2etc.). If the area of the triangle PQR is 60 sq. cm. then the area of the triangle
ABC is equal to —

ABC «(G 3[R fager @22 P, Q, R & foafb 22wt AB, BC, CA IS 1 : 2 S[7ite Rew T
(AP : PB =1 : 2 3wjiw) | 7 PQR fagtes (Fawe 60 sq. cm. 23, 93 ABC fagted (wawe 23 —

Ans.:
Section — C (3 x4 =12 marks)

(In each of the following questions, important steps of calculation, statements and of
proof whenever necessary are to be given)

The angle of elevation of a cloud from a point 60 metres above a lake is 30° and the angle of
depression of the reflection of the cloud in the lake is 60°. Find the height of the cloud.

@35 A TeeTa Toifes (2AtF 60 SoE Thre waige «a i 7 (AT «Fh (Ha Tafe (Fiel 300 @3k Tifa

T (N0EH 2AfSRrEa wRete (@i 600 (Rl (91 | MK Tterd Soiftes (2t (e Twel el a9 |
Ans.:




Find the median for the following distribution.

afRe st e @ s W 591
Height (in Cm)m(mﬁ) 160-162 163-165 166-168 169-171 172-174
No. of People ( &IFA47) 15 117 136 118 14

Ina A4BC, P and Q are points on AB and AC respectively such that PQ || BC. Prove that the
median AD, drawn from A to BC, bisects PQ.
ABC fagte P ¢ Q 321t AB ¢ AC @3 @7 i 7 3 @ PQ |1 BC | (vt (3, ABC fagrea A Rmgaiisi

T, PQ & wfrafes 503 |



